
CAE PERFORMANCE PRODUCTS 
7 Main Road Castlemaine, VIC. 3450 
T 03 5472 1442   
F  03 5472 4111 
E info@caenterprises.com.au 
W www.caeperformanceproducts.com.au  

 

  

 

Customer Instructions 
GENIII LHS Starter Motor (G/R-01/GENIIILHS) 

 

 

 
 

1. Remove the temporary nut on the end of the M6 x 90mm  cap screw. Slide Starter Motor into adaptor plate and 
screw the cap screw into the adaptor plate. Hand tighten temporarily. 

2. Attach M10 x 20mm  bolt in to top adjusting bracket into the threaded pillar on engine block. Adjust this bracket 
by holding the weight of the starter motor. Once the Starter Motor is sitting parallel in the adaptor plate, tighten 
this bolt and the cap screw. It is CRITICAL that the top adjusting bracket is holding the starter parallel & 
straight in the adaptor plate. 

Top Adjusting Bracket & Bolt 
M10 x 20mm Bolt gets bolted 
to engine block pillar 

M6 x 90 mm cap screw 

Stainless Steel spacer. 
33.5mm long 

8mm 
Adaptor 

Plate 

52mm dia 
spigot fits in 
adaptor 
plate 

Temporary nut 

mailto:info@caenterprises.com.au
http://www.caeperformanceproducts.com.au

